N = 0l & At & Ml A

20148 &= 20 A LEHSH WEW
EA: WEI
MM SE2HO HZWSAMUHAHHA &S
e Hsns AEE 2HI|8 X4 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
nE 9,523,804 12,166,567 N2,642,763
2 850,000
&< 581,502
Al 8,092,302
SEHO HsnsSAHMUHAMA & 6,064,973 5,846,043 218,930
== 581,502
Al 5,483,471
sus 8N 298t =4 6,026,973 5,807,743 219,230
== 581,502
Al 5,445,471
AMUHHA HBXNENEA DES RAIEH 30,000 30,000 0
207 A S OH 4| 30,000 30,000 0
01 24| 30,000 30,000 0
OAMUWHA 88Xl - B WSEERA 30,000
AMUHA BXEd &2ABMZ X2 300,000 1,382,621 N 1,082,621
307 2iz2to| & 300,000 1,382,621 N 1,082,621
09 2L AHEXZ2 300,000 1,382,621 A 1,082,621
OAUHA EXId 2283 (AXE) 300,000
AMUHA EXEd 24882 2 BE(EX) 1,249,537 0 1,249,537
& 276,173
Al 973,364
307 gizto| A 1,249,537 0 1,249,537
= 276,173
Al 973,364
09 2LHHEXZ 1,249,537 0 1,249,537
O MUHsHEHA HILH 2ABAZ2 (51T
& EXNE) 1,249,537
&< 276,173
Al 973,364
2494 |tex2 AHE 3,300,000 3,200,000 100,000
307 2izto| A 3,300,000 3,200,000 100,000
09 2LHAHEX2 3,300,000 3,200,000 100,000
O AMgsSHE RIIEXZ A 3,300,000
249 MEXNHE XN2(EX) 555,938 491,754 64,184
= 277,969
Al 277,969
307 QI2t0| ™ 555,938 491,754 64,184
= 277,969
Al 277,969
09 2LHHEXZ 555,938 491,754 64,184
OS24+ MIXAS(AUHA styE0 HT}
L THAXKS DEIIEAEE) 555,938
= 277,969
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2AMd: DS
M S SH0 HswsSHMHIATMA =2HE
S sns AFH 20|18t =4 (&t
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| Al 277,969
snss2dd 411 2 23| 470,030 416,460 53,570
201 L2l 147,030 51,510 95,520
01 At 2t 2l 123,030 27,510 95,520
O WSYRFL ARl 27,510
O BAOIE ANEEER 20,0003 39801 123 95,520
02 =224l 24,000 24,000 0
Ousgexzd RERS 24,000
401 AIEHI L 201 323,000 354,200 A 31,200
01 A& HI 323,000 354,200 A 31,200
O ===s2& FdAg 230,000
SENY HASZHE HX(=s&E)
13,000, 000& *57H A 65,000
GEXE WASSY SR (5EE)
13,000,000 *5H A 65,000
SRNY HASZHE HSXl(=s&E)
13,000,000 *37H A& 39,000
ANUWX Y HASZE SR (ZAE)
13,000, 000& *2H A 26,000
CAE SZE ASEMA(HIOE)
3,500,000& *109H A& 35,000
OAUHA s2d 24 & FH
30,000,000& =14 30,000
O3k 823 HASZZE HIJE 3 A 5,000
O Al sZ2& ®X2c 8,000,000& » 14 8,000
O AQAHAHDIE 8AIS2E Hd &X 50,000
Eswset SHOIX 2el 2,400 2,400 0
201 L2l 2,400 2,400 0
02 =224l 2,400 2,400 0
OUsnsSH SHOIX |RXEx
200,000& 1201 & 2,400
HBEHDOE AEME S 1,600 17,240 A 15,640
206 M= Hl 1,600 1,400 200
01 =8l 1,600 1,400 200
OHDIE 3t&a BoAEE 7Y
400, 0003 44 2 1,600
ZOHCISEA 2H(EX) 56,000 136,000 280,000
< 16,800
Al 39,200
307 21201 A 56,000 56,000
< 16,800
Al 39,200
05 BIZHRIE 3 56,000 56,000
— 2 —




2AMd: DS
M S SH0 HswsSHMHIATMA =2HE
S sns AFH 20|18t =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHMHAZEA 2EXA 28,000, 000& »2CH 56,000
< 16,800
Al 39,200
BLAI KT &AL 26,268 131,268 A 105,000
402 RI2HX20l 26,268 131,268 A 105,000
01 RIZERI 22X 26,268 131,268 105,000
OHAl HEZHMI 2EAMEZE A&
5,500% «3980H =12 26,268
HEznss2dd 8x1Y 243U (Bx) 35,200 0 35,200
< 10,560
Al 24,640
401 AIEHI L 2CHYI 35,200 0 35,200
< 10,560
Al 24,640
01 A& HI 35,200 0 35,200
O HASZE B2 ZHAIE XA 35,200
< 10,560
Al 24,640
wEssH XA 38,000 38,300 A 300
NS X 38,000 38,300 A 300
203 YR =&t 3,000 3,000 0
03 AIBZ=XH I =AY 3,000 3,000 0
OusSgR AIMFA 3,000
307 glz2tol & 35,000 35,300 A 300
02 RIZHENEXS 35,000 35,300 A 300
O2x=ZAtA Il=Hl XI& 25,000
OusStH 2He ZH XA 10,000
otMotD Eolst dal wEEd 5 3,285,100 3,448,100 A 163,000
= 850,000
Al 2,435,100
wWSAE 22 2,705,100 1,318,100 1,387,000
& 560,000
Al 2,145,100
ns & Ald=22el 1,253,100 1,298,100 A 45,000
201 et 238,100 188, 100 50,000
02 2324l 238,100 188,100 50,000
Otlss & Z2EsS &IIe= 123,100
O 39 MNHAFIE MI|.SE3 25,000
O Helol2s+a49 CCTV dIIe=s 40,000
O OEolEs3% CCTV S¢S 50,000
401 Al HIZ 201 8] 1,015,000 1,110,000 A 95,000




2AMd: DS
M oFME D Bols MW NESH 1E
ool DEAM 29 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 1,008,403 1,104,240 A 95,837
Otlss & WS AME=S FHl
970,000,000& *99.37% 963,889
O s8=3XHxs DFEA CCTVEX
45,000,000 = 1JH £ *98.92% 44,514
03 A& S THHI 6,597 5,760 837
O SYFZXE= DA CCTVER
45,000, 0003 »1JH 2 +1.08% 486
Otlss & WS AME=S FHl
970,000,000& *0.63% 6,111
HEHAIE 22l 30,000 20,000 10,000
207 Ao H| 30,000 0 30,000
01 289 30,000 0 30,000
OXAEN Ols84ds HE(HE )= Y 30,000
SI2 SYXMDX =4 (BX) 1,422,000 0 1,422,000
= 560,000
Al 862,000
401 Al HIZ 201 8] 1,422,000 0 1,422,000
= 560,000
Al 862,000
01 A& HI 1,416,881 0 1,416,881
O st=2Xsi 2Ei0A =4
1,422,000, 000& *99.64% 1,416,881
= 560,000
Al 856,881
03 A& =2 THHI 5,119 0 5,119
O =Sk SExLXN =4 5,119
00l nsetd 580,000 2,130,000 A 1,550,000
= 290,000
Al 290,000
OHglol2s 3 TV XA (EX) 500,000 1,500,000 A 1,000,000
& 250,000
Al 250,000
401 AIEHI L 20HEI 500,000 1,500,000 A 1,000,000
& 250,000
Al 250,000
1T AIZHI 496,400 1,494,600 998,200
O HEol 25379 CCTV & XIAtY
500,000,000& *99.28% 496,400
& 250,000
Al 246,400
03 Al 2 0HHI 3,600 5,400 A 1,800
O HEol 25379 CCTV XAt
500,000,000& *0.72% 3,600
25379 Ze(Ex) 80,000 0 80,000




2N 1S
MM OFEID BRlE MF REBE 7S
ol O{2I0] DECHA (SHol: @)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
& 40,000
Al 40,000
401 Al Bl 28I 80,000 0 80,000
& 40,000
Al 40,000
01 A& HI 79,280 0 79,280
O g0l B9 Ha A
80,000,000& %99. 10% 79,280
= 40,000
Al 39,280
03 AIE 2 0H bl 720 0 720
O 0elol 2749 Ha A
80,000,000& *0.90% 720
HY2AZH (LS) 125,731 72,424 53,307
ol gl (s 26,369 25,881 488
o2yl (s 26,369 25,881 488
101 @124 dl 26,369 25,881 488
03 RIAHAZ 22+ 26,369 25,881 488
OLREX (X&0IJA1YH) 26,369
g2 1,088,890& 122 13,067
&0= 13,066,680 / 12& *400% 4,356
MR- ] 120,000 128 1,440
Mz AlH| 130,000& =128 1,560
Aol 2esg
6,909& 1. 58 x15A1 2t 128 1,866
SESOHI(E,F4) 1,088,890& *120% 1,307
O 2 &b 6,909& *BAl 2t+10L 553
2+ 1,260
NE=L (IR, 221, A1) 960
Jl2Zdd(nsEu) 99,362 46,543 52,819
Jl2dyl(nsE) 99,362 46,543 52,819
201 Let249] 15,962 16,043 A 81
01 At 22l 9,436 9,436 0
O= 2l 9,436
02 =224l 6,526 6,607 A 81
OXNedsSEXNE MEEES 87,6503 x6H 526
OSAE RA/gF2e T2 A E=H
250,000& 241 123 6,000
202 odl 24,200 25,300 A 1,100
01 = LH YI 24,200 25,300 21,100
Ounsi gR=2a 24,200
203 PR =&l 4,200 4,200 0
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350,0002! * 122

4,200
4,200

4,200

55,000

1,000

54,000

Il 2 gl

5,000, 000 *1CH

50,000,0002 *14!

55,000

5,000

50,000

1,000

54,000

48,000

2,800,000

A2,752,000

48,000

2,800,000

A2,752,000

48,000

2,800,000

A2,752,000

48,000

2,800,000

A2,752,000

48,000
48,000

2,800,000

A2,752,000




